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1. BUICHILCE=C LD 124 23. T%
2. BhEYICHETCE=TS 337 64 4%
3. ALV b 12 2. 3%
4. E<hrbil 50 9. 6%
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1. WU CE=C LD 57 21. 4% 67] 26.1% 1241 23. 7%
2. BhadldhcE=T5 178] 66. 9% 159 61. 9% 337 64. 4%
3. ALlcoO VA EAHD [ 4.1% 1 0.4% 12 2.3%
4. E<hrbil 20 7.5% 30[ 11. 7% 50 9.6%
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F1 20k | 20 | 30t | 40t 501X 60mft [ 70 LLE
1 11 69 159 109 102 72
1. BUICHILCE=C LD 0[0.0%]  4]36.4%] 18]26.1% 42]26. 4% 23]21.1% 18]17.6%] 19]26.4%
2. BhBEYIcHETETLS T[r00.0%]  7]63.6%| 39]56.5%| 99]62.3%| 73|67.0%] 72[70.6% 46[63.9%
3. ®IGITOWTARENH D 0[0.0% o]o.o%| 1[1.4% 5[3. 1% 2[1.8% 1[1.0% 3[4 2%
4. K<{bhmoil 0[0.0% 0]0.0% 11|15 9% 13[8. 2% 1i]10.1%| 11[10.8%] 4] 5. 6%
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